



INTERNATIONAL ATOMIC ENERGY AGENCY
UNITED NATIONS EDUCATIONAL, SCIENTIFIC AND CULTURAL ORGANIZATION



INTERNATIONAL CENTRE FOR THEORETICAL PHYSICS
34100 TRIESTE (ITALY) - P.O. B. 588 - MIRAMARE - STRADA COSTIERA 11 - TELEPHONES: 224281/2/3/4/5/6
CABLE: CENTRATOM - TELEX 480392-1

SMR/99- 41

AUTUMN COURSE ON MATHEMATICAL ECOLOGY

(16 November - 10 December 1982)

A MATHEMATICAL MODEL OF POPULATION DYNAMICS, INVOLVING MIGRATION
AND RESOURCES

A. HAIMOVICI

Universitatea "Al.I. Cuza"
Seminarul Matematic
6600 Iasi
Romania

These are preliminary lecture notes, intended only for distribution to participants
Missing or extra copies are available from Room 230.

A MATHEMATICAL MODEL OF POPULATION DYNAMICS, INVOLVING MIGRATION AND RESOURCES

by Adolf Haimovici
Iasi-Romania

The problem of population dynamics depending on ages and involving migration has been considered by many authors (see e.g. [1][2][3]). Our aim is to approach the same problem, by supposing, in addition, the dependence of the population variation not only on age and time, but also on a vector of resources; this one is conceived in a general manner, in order to simplify the exposition more precisely, if a component of this vector is an obstacle at the development of the population, it will be interpreted as a pollution; so that we will not impose sign restrictions on this vector.

Obviously, we must introduce a new equation in the system, beside the usual ones, namely the dependence of this vector on the population; we will suppose the time variation of the resources depending linearly on the population of various ages.

§1. Statement of the problem. In what follows, we will denote

- i) $u(t, a, x)$ the number of individuals of age a , at the moment t , and the point x of the space;
- ii) $Du = \lim_{h \rightarrow 0} \frac{u(t+h, a+h, x) - u(t, a, x)}{h}$ (see f.i. [3], [5]);
- iii) A - the migration coefficient, which we will suppose constant
- iv) $r(t, x)$ - an n -dimensional vector, depending on time t and point x of the space, representing the resources, and $r_0(x)$ the initial repartition of these resources;

- v) λ the death coefficient, depending on time, age and resources, i.e. $\lambda = \lambda(t, a, r(t, x))$;
- vi) μ the birth coefficient, depending on time, age and on the point x , $\mu = \mu(t, a, x)$;
- vii) φ the initial repartition of the population $\varphi = \varphi(a, x)$;
- viii) B the number of offsprings $B = B(t, x)$, at moment t , and point x ;
- ix) $S = S(t, a, x)$ an n -vector $R_+ \times R_+ \times R \rightarrow R^n$,
- x) $g = g(t, x)$ also such a vector, this two characterizing the variation of the resources vector.

The space in which migration takes place will be R . The equations of our model will be

$$(1.1) \quad Du - A^2 \frac{\partial^2 u}{\partial x^2} = \lambda(t, a, r(t, x))u,$$

$$(1.2) \quad B(t, x) = \int_0^\infty \mu(t, \alpha, x) u(t, \alpha, x) d\alpha.$$

$$(1.3) \quad \frac{\partial r}{\partial t} = \int_0^\infty S(t, \alpha, x) u(t, \alpha, x) d\alpha + g(t, x),$$

$$(1.4) \quad u(0, a, x) = \varphi(a, x), \quad r(0, x) = r_0(x),$$

$$(1.5) \quad \varphi(0, x) = \int_0^\infty \mu(0, \alpha, x) \varphi(\alpha, x) d\alpha \quad - \text{an obvious compatibility condition.}$$

Remarks. 1. If $A=0$, i.e. if there does not exist migration, then λ - the death rate, must be negative. In our case, this condition is no more valid, since the contribution of the migration can lead to the fact that in some points x , $\lambda \geq 0$.

2. The equation (1.2) is the same that can be found in [3], [5]

3. The third equation expresses the fact that the variation speed of the resources depends linearly on the population, with coefficients depending on ages, on time and on points; . . . it

follows that the derivatives of resources, are intervals $\int S(t, \alpha, x) u(t, \alpha, x) d\alpha$, S being an n -vector. If a certain component i of S is positive, and $r_i > 0$, then this can mean that the resources are produced by the population, if $r_i < 0$ and $S_i < 0$, then this can mean that the component i of r is a pollution, which grows with the number of individuals in the population.

§2. Hypotheses. We suppose

A₁. λ is continuous on $R_+ \times R_+ \times R^n$ and bounded

$$|\lambda(t, a, r)| \leq \lambda_0(t, a) \leq \Lambda, \text{ and } \int_0^\infty (t-s, a-s) ds \leq \Lambda, \quad \Lambda < 1/2, \\ \text{for every } r \in R^n, \|r\| < M.$$

A₂. λ is lipschitz with respect to the last variables, i.e.

$$|\lambda(t, a, r_1) - \lambda(t, a, r_2)| \leq L e^{ka} \|r_1 - r_2\|,$$

where L, k are ^{positive} constants, and $\|\cdot\|$ is the norm in R^n .

B₁. μ is continuous in $R_+ \times R_+ \times R$, and satisfies (see also [5])

$$0 \leq \mu \leq \mu_0 e^{ha}, \quad \mu_0, h \text{ positive constants.}$$

C. The vector S is continuous and bounded on $R_+ \times R_+ \times R$ and r is continuous on $R \times R$, and

$$\|S\| \leq S_0(t) e^{-sa} \quad s = \text{const.} \quad \int_0^\infty S_0(t) dt = S_1 = \text{const.} \\ \|r(t, x)\| \leq R_1 \quad \text{and} \quad \int_0^t \|r(t, x)\| \leq G = \text{const.}$$

D. The function φ is continuous on $R_+ \times R$ and bounded

$$0 \leq \varphi \leq \varphi_0.$$

E. The function r_0 is continuous on R and bounded

$$\|r_0\| \leq R.$$

F. The above constants satisfy

$$R + (-\frac{1}{s} + 1 + G) \frac{\varphi_0 S_1}{s} < M, \quad S_1 a/h \leq 1.$$

§3. Transformation of the system (1.1)-(1.5). As usual, we consider first a pair of arbitrary positive, but fixed numbers $(t_0, a_0) \in R_+ \times R_+$, and denote

$$\begin{aligned} u(t_0 + \tau, a_0 + \tau, x) &= \bar{u}(\tau, x), \\ r(t_0 + \tau, x) &= \bar{r}(\tau, x), \\ \lambda(t_0 + \tau, a_0 + \tau, \bar{r}(\tau, x)) &= \bar{\lambda}(\tau, r), \\ \mu(t_0 + \tau, a_0 + \tau, x) &= \bar{\mu}(\tau, x), \\ \varphi(a_0 + \tau, x) &= \bar{\varphi}(\tau, x). \end{aligned} \quad (3.1)$$

Then, one sees easily that

$$Du(t_0 + \tau, a_0 + \tau, x) = \frac{\partial \bar{u}}{\partial \tau}(\tau, x), \quad (3.2)$$

and (1.1) becomes

$$\frac{\partial \bar{u}}{\partial \tau} - A^2 \frac{\partial^2 \bar{u}}{\partial x^2} = \bar{\lambda}(\tau, r) \bar{u}. \quad (3.3)$$

Taking into account the thermic potentials, (3.3) can be written under the form

$$\begin{aligned} (3.4) \quad \bar{u}(\tau, x) &= \int_0^\tau d\sigma \int_{-\infty}^\infty E(\tau, x; \sigma, \xi) \bar{\lambda}(\sigma, \bar{r}(\sigma, \xi)) \bar{u}(\sigma, \xi) d\xi + \\ &+ \int_{-\infty}^\infty E(\tau, x; 0, \xi) \bar{u}(0, \xi) d\xi, \end{aligned}$$

where, obviously

$$E(t, x; \sigma, \xi) = \frac{1}{2A \sqrt{\pi(t-\sigma)}} \exp\left(-\frac{(x-\xi)^2}{4A^2(t-\sigma)}\right).$$

Supposing now $\bar{u}(0, \xi)$ a known function, and denoting

$$(3.5) \quad v(\tau, x) = \int_{-\infty}^\infty E(\tau, x; 0, \xi) \bar{u}(0, \xi) d\xi,$$

the equation (3.3) is a linear integral equation with kernel $K(\tau, x; \sigma, \xi) \bar{\lambda}(\sigma, \bar{r}(\sigma, \xi))$ where $\bar{\lambda}$, as a consequence from

A_1 , satisfies

$$(3.6) \quad \int_0^\tau |\lambda(\sigma, \bar{r}(\sigma, x))| d\sigma \leq \Delta.$$

Taking into account the identity

$$(3.7) \quad \frac{(x-x_1)^2}{\tau-\tau_1} + \frac{(x_1-x_2)^2}{\tau_1-\tau_2} = \frac{(x-x_2)^2}{\tau-\tau_2} + \frac{(x_1-\tilde{x})^2}{(\tau-\tau_1)(\tau_1-\tau_2)},$$

with

$$\tilde{x} = \frac{(\tau-\tau_2)x_1 + (\tau_1-\tau_2)x_2}{\tau-\tau_2}$$

and, supposing r and v known-functions, we have, for the resolvent kernel

$$(3.8) \quad \mathcal{R}(\tau, x; \sigma, \xi) \leq \frac{1}{1-\Delta} \frac{1}{2A \sqrt{\pi(\tau-\sigma)}} |\bar{\lambda}(\sigma, \bar{r}(\sigma, \xi))| \cdot \exp\left(-\frac{(x-\xi)^2}{4A^2(\tau-\sigma)}\right),$$

and so

$$\bar{u}(\tau, x) = \int_0^\tau d\sigma \int_{-\infty}^\infty \mathcal{R}(\tau, x; \sigma, \xi) v(\sigma, \xi) d\xi + v(\tau, x),$$

from which we deduce

$$(3.9) \quad \frac{1-2\Delta}{1-\Delta} v(\tau, x) \leq \bar{u}(\tau, x) \leq \frac{1}{1-\Delta} v(\tau, x),$$

which proves the positiveness of $\bar{u}(\tau, x)$.

§4. Taking now, for $a \leq t$

$$a_0 = 0; \quad t_0 = t-a, \quad \tau = a,$$

(3.4) becomes

$$(4.1) \quad u(t, a, x) = \int_0^a d\sigma \int_{-\infty}^\infty E(a, x; \sigma, \xi) \lambda(t-a+\sigma, \sigma, r(t-a+\sigma, \xi)) \cdot u(t-a+\sigma, \sigma, \xi) d\xi + v(a, x),$$

with

$$(4.2) \quad v(a, x) = \int_{-\infty}^\infty \frac{1}{2A \sqrt{\pi a}} \exp\left(-\frac{(x-\xi)^2}{4A^2 a}\right) B(t-a, \xi) d\xi,$$

the solution of which is

$$u(t, a, x) = \int_0^a d\sigma \int_{-\infty}^\infty \mathcal{R}(a, x; \sigma, \xi) v(\sigma, \xi) d\xi + v(a, x),$$

and is bounded by

$$0 \leq u(t, a, x) \leq \frac{1}{1-\Delta} \int_0^a d\sigma \int_{-\infty}^\infty \frac{\lambda(t-a+\sigma, \sigma, r(t-a+\sigma, \xi))}{2A \sqrt{\pi(a-\sigma)}} \exp\left(-\frac{(x-\xi)^2}{4A^2(a-\sigma)}\right) \left(\int_{-\infty}^\infty \frac{1}{2A \sqrt{\pi\sigma}} \exp\left(-\frac{(\xi-\eta)^2}{4A^2\sigma}\right) B(t-a, \eta) d\eta \right) d\xi.$$

Using (3.7), we obtain

$$(4.3) \quad u(t, a, x) \leq \frac{1}{1-\Delta} \int_{-\infty}^\infty \frac{1}{2A \sqrt{\pi a}} \exp\left(-\frac{(x-\xi)^2}{4A^2 a}\right) B(t-a, \xi) d\xi \leq \frac{1}{1-\Delta} \max_{\xi \in \mathbb{R}} (B(t-a, \xi)),$$

$$u(t, a, x) \geq \frac{1-2\Delta}{1-\Delta} \int_{-\infty}^\infty \frac{1}{2A \sqrt{\pi a}} \exp\left(-\frac{(x-\xi)^2}{4A^2 a}\right) B(t-a, \xi) d\xi.$$

For $a > t$, we take:

$$a_0 = a-t, \quad t_0 = 0, \quad \tau = t,$$

and obtain in the same manner:

$$(4.4) \quad u(t, a, x) \leq \frac{1}{1-\Delta} \int_{-\infty}^\infty \frac{1}{2A \sqrt{\pi t}} \exp\left(-\frac{(x-\xi)^2}{4A^2 t}\right) \varphi(a-t, \xi) d\xi \leq \frac{1}{1-\Delta} \varphi_0,$$

$$u(t, a, x) \geq \frac{1-2\Delta}{1-\Delta} \int_{-\infty}^\infty \frac{1}{2A \sqrt{\pi t}} \exp\left(-\frac{(x-\xi)^2}{4A^2 t}\right) \varphi(a-t, \xi) d\xi.$$

§5. Write now (1.2) under the form:

$$(5.1) \quad B(t, x) = \int_0^t \mu(t, \alpha, x) u(t, \alpha, x) d\alpha + \int_t^\infty \mu(t, \alpha, x) u(t, \alpha, x) d\alpha.$$

Using (4.3), (4.5), and (3.5), we get

$$(5.2) \quad B(t, x) = \int_0^t d\alpha \int_{-\infty}^{\infty} H(t, x; \alpha, \xi) B(\alpha, \xi) d\xi + F(t, x),$$

where

$$(5.3) \quad H(t, x; \alpha, \xi) = \mu(t, t-\alpha, x) \left\{ \int_0^{t-\alpha} d\sigma \int_{-\infty}^{\infty} \frac{1}{2A \sqrt{\pi\sigma}} \mathcal{R}(t-\alpha, x; \sigma, \eta) \exp\left(-\frac{(\eta-\xi)^2}{4A^2\sigma}\right) d\eta + \frac{1}{2A \sqrt{\pi(t-\alpha)}} \exp\left(-\frac{(x-\xi)^2}{4A^2(t-\alpha)}\right) \right\}$$

and

$$(5.4) \quad F(t, x) = \int_0^{\infty} \mu(t, t+\alpha, x) d\alpha \left\{ \int_0^t d\sigma \int_{-\infty}^{\infty} \frac{1}{2A \sqrt{\pi\sigma}} \mathcal{R}(t, x; \sigma, \eta) \exp\left(-\frac{(\eta-\xi)^2}{4A^2\sigma}\right) d\eta + \frac{1}{2A \sqrt{\pi t}} \exp\left(-\frac{(x-\xi)^2}{4A^2 t}\right) \right\} \varphi(\alpha, \xi) d\xi.$$

From hypothesis B_1 , the bound (3.8), and the identity (3.7), it results

$$|H(t, x; \alpha, \xi)| \leq \frac{\mu(t-\alpha) e^{-h(t-\alpha)}}{(1-\Lambda) 2A \sqrt{\pi(t-\alpha)}} \exp\left(-\frac{(x-\xi)^2}{4A^2(t-\alpha)}\right)$$

and for the resolvent kernel:

$$0 \leq \mathcal{H}(t, x; \alpha, \xi) \leq \frac{1}{2A \sqrt{\pi(t-\alpha)}} e^{-h(t-\alpha)} \sum_{n=0}^{\infty} \frac{\mu_0^n}{(1-\Lambda)^n} \frac{(t-\alpha)^{2n-1}}{(2n-1)!} \exp\left(-\frac{(x-\xi)^2}{4A^2(t-\alpha)}\right).$$

For $F(t, x)$, using the same relations as before, we obtain

$$0 \leq F(t, x) \leq \frac{\mu_0}{(1-\Lambda)h^2} (ht+1) e^{-ht} \int_{-\infty}^{\infty} \frac{1}{2A \sqrt{\pi t}} \exp\left(-\frac{(x-\xi)^2}{4A^2 t}\right) \varphi_0 d\xi;$$

and then, denoting

$$(5.5) \quad \nu^2 = \frac{\mu_0}{1-\Lambda},$$

we obtain

$$(5.6) \quad B(t, x) \leq \nu \rho \frac{\varphi_0}{h^2} \exp((\nu-h)t), \quad \rho = \max(h, \nu).$$

Suppose now the supplementary hypothesis

$$(B_2) \quad \mu(t, a, x) \geq \mu_0 e^{-ha} \quad \mu_1 \leq \mu_0;$$

Denoting

$$\nu_1^2 = \frac{(1-2\Lambda)}{1-\Lambda},$$

$$\varphi_1(t, x) = \int_0^{\infty} d\beta \int_{-\infty}^{\infty} \beta e^{-h\beta} \frac{1}{2A \sqrt{\pi t}} \exp\left(-\frac{(x-\xi)^2}{4A^2 t}\right) \varphi(\beta, \xi) d\xi$$

$$\varphi_2(t, x) = \int_0^{\infty} d\beta \int_{-\infty}^{\infty} \beta e^{-h\beta} \frac{1}{2A \sqrt{\pi t}} \exp\left(-\frac{(x-\xi)^2}{4A^2 t}\right) \varphi(\beta, \xi) d\xi,$$

and

$$\tilde{\varphi}(t, x) = \min(\nu, \varphi_1(t, x), \varphi_2(t, x)),$$

it follows

$$(5.7) \quad B(t, x) \geq \nu \tilde{\varphi}(t, x) \exp[(-h+\nu)t].$$

Remark.1 Taking into account that, after hypotheses, $\tilde{\varphi}$ is bounded, it follows from (5.6) and (5.7) if $\nu < h$, that the offspring tends to zero as t tends to infinity; and if $\nu > h$, then the offspring tends to infinity as t tends to infinity, in each compact of R .

2. If $\nu < h$, then $\rho = h$; and

$$|B(t, x)| \leq \frac{\nu \varphi_0}{h} \leq \varphi_0,$$

and from (4.3) we obtain, when $a < t$:

$$(5.8) \quad u(t, a, x) \leq \frac{1}{1-\Lambda} \varphi_0,$$

so that, this inequality remains valid for all a, t .

§6. To study the equation (1.3) we will assume in the following $\nu \leq h$; then let r_1, r_2 be two vectors in R^n , depending on t and x ; for $\bar{u}_1, \bar{u}_2$ from (3.4), we get

$$\begin{aligned} \|\bar{u}_1(\tau, x) - \bar{u}_2(\tau, x)\| \leq & \int_0^\tau d\sigma \int_{-\infty}^{\infty} E(\tau, x; \sigma, \xi) \{ |\bar{\lambda}(\sigma, \bar{r}_1(\sigma, \xi)) - \\ & - \bar{\lambda}(\sigma, \bar{r}_2(\sigma, \xi))| \bar{u}_1(\sigma, \xi) + \\ & + |\bar{\lambda}(\sigma, \bar{r}_2(\sigma, \xi))| |\bar{u}_1(\sigma, \xi) - \bar{u}_2(\sigma, \xi)| \} d\xi + \\ & + \int_{-\infty}^{\infty} E(\tau, x; 0, \xi) |\bar{u}_1(0, \xi) - \bar{u}_2(0, \xi)| d\xi \end{aligned}$$

and then, after hypothesis A_2 :

$$\begin{aligned} (1-\Lambda) \max \|\bar{u}_1(\tau, x) - \bar{u}_2(\tau, x)\| \leq & \frac{\Lambda L}{(1-\Lambda)^2 k} \max \|r_1 - r_2\| \int_{-\infty}^{\infty} E(\tau, x; 0, \xi) \cdot \\ & \bar{u}(0, \xi) d\xi + \|\bar{u}_1(0, \xi) - \bar{u}_2(0, \xi)\|, \end{aligned}$$

from which, for $a \leq t$, we deduce, with regard to (3.9) and (4.2):

$$\begin{aligned} (6.1) \quad \max |u_1(t, a, x) - u_2(t, a, x)| \leq & \frac{\Lambda L}{(1-\Lambda)^2 k} \max \|r_1 - r_2\| \\ & \int_{-\infty}^{\infty} \frac{1}{2A \sqrt{\pi a}} \exp\left(-\frac{(x-\xi)^2}{4A^2 a}\right) B(t-a, \xi) d\xi + \frac{1}{1-\Lambda} \max_{t \geq a, x \in R_+} \|B_1 - B_2\|, \end{aligned}$$

and, with (5.5)

$$\begin{aligned} \max |u_1(t, a, x) - u_2(t, a, x)| \leq & \frac{\Lambda L}{(1-\Lambda)^2 k} \varphi_0 \max \|r_1 - r_2\| \cdot \\ & \exp(\nu - h)(t - a) + \frac{1}{1-\Lambda} \max |B_1(t-a, \xi) - B_2(t-a, \xi)| \end{aligned}$$

and for $a > t$:

$$(6.2) \quad \max |u_1(t, a, x) - u_2(t, a, x)| \leq \frac{\Lambda L}{(1-\Lambda)^2 k} \max \|r_1 - r_2\|.$$

Further, from (5.1) we have

$$\begin{aligned} |B_1(t, x) - B_2(t, x)| \leq & \int_0^t \mu(t, \alpha, x) |u_1(t, \alpha, x) - u_2(t, \alpha, x)| d\alpha + \\ & + \int_t^\infty \mu(t, \alpha, x) |u_1(t, \alpha, x) - u_2(t, \alpha, x)| d\alpha \end{aligned}$$

and taking into account (6.1) and (6.2), and the hypothesis B_1 , we have

$$\begin{aligned} |B_1(t, x) - B_2(t, x)| \leq & \frac{\Lambda L}{(1-\Lambda)^2 k} \varphi_0 \max \|r_1 - r_2\| \left[\frac{1}{\nu^2} e^{\nu t} + \right. \\ & \left. + \frac{1}{\nu^2} (th+1) \right] e^{-ht} + \frac{1}{(1-\Lambda)h^2} \max |B_1 - B_2|. \end{aligned}$$

Supposing in addition $(1-\Lambda)h^2 \gg 1$, we deduce:

$$(6.3) \quad \max \|B_1 - B_2\| \leq P \max \|r_1 - r_2\|, \quad \text{with } P = \frac{3\Lambda L \varphi_0 h^2}{[(1-\Lambda)h^2 - 1]k}$$

Coming back to (6.1) and (6.2), we obtain

$$(6.4) \quad \max |u_1(t, a, x) - u_2(t, a, x)| \leq Q \max \|r_1 - r_2\|,$$

where

$$Q = \frac{\Lambda L}{(1-\Lambda)^2 k} \varphi_0 + \frac{1}{1-\Lambda} P \leq 4 \frac{\Lambda L \varphi_0}{(1-\Lambda)^2 [(1-\Lambda)h^2 - 1]}$$

§7. We come now to equation (1.3), which we write under the form

$$(7.1) \quad r(t, x) = r_0(x) + \int_0^t d\tau \int_0^\infty S(\tau, \alpha, x) u(\tau, \alpha, x) d\alpha + \int_0^t R(\tau, x) d\tau.$$

For this equation we must prove that it has a continuous bounded solution $R^n \rightarrow R$.

To this end, we consider the operator $\mathcal{A}$, defined by

$$\tilde{r}(t, x) = (\mathcal{A}r)(t, x) = r_0(x) + \int_0^t d\tau \int_0^\infty S(\tau, \alpha, x) u(\tau, \alpha, x) d\alpha + \int_0^t R(\tau, x) d\tau.$$

First we see that, taking into account (4.3), (4.5) and (5.6) with $\nu < h$, and the hypothesis E, we have:

$$\begin{aligned} \|\tilde{r}(t, x)\| \leq & R + S_0 \frac{\varphi \nu \varphi_0}{h^2} \int_0^t \left\{ \frac{1}{(h - \varphi + s)} (1 - \exp e^{-s\tau}) \exp(-s\tau) \right. \\ & \left. + \varphi_0 S_0 \frac{1}{\lambda} \exp(-\lambda\tau) \right\} d\tau + G. \\ \leq & R + \frac{\varphi_0 S_0}{s} \left(\frac{\varphi \nu}{h - \varphi + \lambda} + 1 \right) + G, \end{aligned}$$

which after hypothesis is smaller than M , i.e. the space of vector functions (7.2) is transformed by the operator defined in the left-hand side of (7.2), into itself.

Concerning the contraction property of this operator we see that if r_1 and r_2 are two vector-functions satisfying (7.2) and $\tilde{r}_1$ and $\tilde{r}_2$ their transforms through A , then, taking into account (6.4), we have:

$$\|\tilde{r}_1 - \tilde{r}_2\| \leq \int_0^t d\tau \int_0^\infty S(\tau, \alpha, x) Q \|r_1 - r_2\| d\alpha \leq \int_0^t d\tau \int_0^\infty S_0 e^{S\alpha} Q \|r_1 - r_2\| d\alpha \leq \frac{S_1}{S} Q \|r_1 - r_2\|$$

and as by hypothesis, $S_1 Q/h < 1$, the existence follows.

§8. The influence of the migration. To study the influence of the migration, we must see the dependence of the solution on the coefficient A . To this end, we add to the hypotheses in §2, the following ones:

A_3 . λ has bounded derivatives with respect to the components of the third variable

$$\left| \frac{\partial \lambda}{\partial r} \right| \leq \Lambda_1$$

B_2 . μ has a bounded derivative with respect to the third variable

$$\left| \frac{\partial \mu}{\partial s} \right| \leq \bar{\mu}_p e^{-pa}, \quad \bar{\mu}_p, p\text{-constants, } \mu_{p,p} > 0.$$

C_2 . The components of the vectors S are differentiable and satisfy

$$\int_0^\infty \left\| \frac{\partial S}{\partial x} \right\| d\alpha \leq S_1 e^{mt}, \quad \left\| \frac{\partial r}{\partial x} \right\| \leq \gamma.$$

E_2 . r_0 is differentiable and

$$\left\| \frac{\partial r_0}{\partial x} \right\| \leq B_1,$$

$$F_2. \quad 1 - \Lambda - \frac{L \varphi_0}{(1-\Lambda)k} - \frac{\mu_0}{h^2} > 0.$$

We obtain so

$$\|u\| \leq \frac{1}{1-\Lambda} \varphi_0$$

$$(8.1) \quad \left| \frac{\partial u}{\partial x} \right| \leq \begin{cases} k \frac{2\varphi_0}{A} \left(\sqrt{a} + \frac{1}{\sqrt{a}} \right), & \text{if } a < t \\ k \frac{2\varphi_0}{A} \left(\sqrt{t} + \frac{1}{\sqrt{t}} \right), & \text{if } a > t. \end{cases}$$

$$(8.2) \quad \left| \frac{\partial B}{\partial x} \right| \leq M_1 + \frac{1}{A} M_2 \phi_1(t),$$

$$(8.3) \quad \left| \frac{\partial r}{\partial x} \right| \leq Q_1 + \frac{1}{A} Q_2 \phi_2(t),$$

ϕ_1, ϕ_2 being two increasing on t functions, and M_1, M_2, Q_1, Q_2 constants.

Then, taking into account the differentiability with respect to α of the functions λ, μ, S , we have, from (3.4):

$$(8.4) \quad \begin{aligned} \bar{u}(\tau, x) = & \frac{1}{\sqrt{\pi}} \int_0^\tau d\sigma \int_{-\infty}^\infty e^{-\xi^2} \bar{\lambda}(\sigma, \bar{r}(\sigma, x)) \bar{u}(\sigma, x) d\xi + \\ & + \frac{1}{\sqrt{\pi}} \int_{-\infty}^\infty e^{-\xi^2} \bar{u}(0, x) d\xi + \frac{1}{\sqrt{\pi}} \int_0^\tau d\sigma \int_0^\infty e^{-\xi^2} \left\{ \frac{\partial \bar{\lambda}}{\partial r}(\sigma, \bar{r}(\sigma, x)) \cdot \right. \\ & \left. + \frac{\partial \bar{r}}{\partial x}(\sigma, x) \bar{u}(\sigma, x^*) + \right. \\ & \left. + \bar{\lambda}(\sigma, \bar{r}(x^*)) \frac{\partial \bar{u}}{\partial x}(\sigma, x^*) \right\} 2A \sqrt{\tau - \sigma} d\sigma \\ & + \frac{1}{\sqrt{\pi}} \frac{\partial \bar{u}}{\partial x}(\sigma, x^*) 2A \sqrt{\tau}, \end{aligned}$$

where x^* is a value between x and $x+2A\sqrt{\tau-\sigma}$ and, after considering the above estimates we find

$$\left| \bar{u}(\tau, x) - \int_0^\tau \bar{\lambda}(\sigma, \bar{r}(\sigma, x)) \bar{u}(\sigma, x) d\sigma + \bar{u}(0, x) \right| \leq C_1 A \sqrt{\tau} + C_2 \tau$$

where C_1, C_2 are constants depending on the constants involved in the hypotheses, independent on A , and F is an increasing on t functions, also independent on A ;

Consider now the system (1.1) - (1.5) with $A=0$, and denote by $(v(t,x), b(t,x), R(t,x))$ its solution. By analogous notations and operations, we obtain

$$\begin{aligned} \bar{v}(\tau, x) &= \int_0^\tau \bar{\lambda}(\sigma, R(\sigma, x)) \bar{v}(\sigma, x) + \bar{v}(0, x), \\ b(t, x) &= \int_0^\infty \bar{\mu}(t, \alpha, x) v(t, \alpha, x) d\alpha, \\ (8.5) \quad \frac{\partial R}{\partial t} &= \int_0^\infty S(t, \alpha, x) v(t, \alpha, x) d\alpha + G(t, x), \\ v(0, \alpha, x) &= \varphi(\alpha, x), \quad R(0, x) = r_0(x). \end{aligned}$$

Comparing (8.4), with the first equation (8.5), we obtain:

$$\begin{aligned} |\bar{u}(\tau, x) - \bar{v}(\tau, x)| &\leq \int_0^\tau L e^{k(s_0 + \sigma)} \|r - R\| \frac{\varphi_0}{1-\Lambda} d\sigma + \\ &+ \max_{\alpha \leq t} \left\{ |\bar{u}(\beta, x) - \bar{v}(\beta, x)| d\beta + |\bar{u}(0, x) - \bar{v}(0, x)| \right\} + \\ &+ C_1 A \sqrt{\tau^3} + C_2 F(t), \end{aligned}$$

which means:

for $a > t$

$$\begin{aligned} (8.6) \quad (1-\Lambda) \max_{a \leq t} |u(t, a, x) - v(t, a, x)| &\leq \frac{L \varphi_0}{(1-\Lambda)k} \max \|r - R\| + \\ &+ \max_{a \leq t} \{B(t-a, x) - b(t-a, x)\} + C_1 A \sqrt{t^3} + C_2 F(t) \end{aligned}$$

and for $a > t$

$$(8.7) \quad (1-\Lambda) \max |u(t, a, x) - v(t, a, x)| \leq \frac{L \varphi_0}{(1-\Lambda)k} \|r - R\| + C_1 A \sqrt{t^3} + C_2 F(t)$$

From the other relations we obtain

$$\|r - R\| \leq \frac{\bar{S}_1}{\Delta} \max \|u - v\|, \quad |B - b| \leq \frac{\mu_0}{h^2} \max \|u - v\|$$

So that, finally we have

$$\max |u - v| \leq c_1 A \sqrt{t^3} + c_2 F(t).$$

where

$$c_1 = c_1 / [1 - \Lambda - \frac{L \varphi_0}{(1-\Lambda)k} - \frac{\mu_0}{h^2}],$$

References

1. di Blasio, G. Non linear Age-dependent Population. Diffusion, J. of Math. Biology 8, 265-284 (1979)
2. di Blasio G. and Lambert L. An initial-boundary Value Problem for Age-Dependent Population Diffusion, SIAM J. Appl. Math. 35, 593-615.
3. Gurtin M. and McCamy R. C., Non-linear age-dependent population dynamics, Arch. Rational Mech. Anal. 54, 281-300 (1974)
4. Haimovici A. On the Growth of a Population Dependent on Ages and involving Resources and Pollution, Math. Biosci. 6 (1978)
5. Hoppensteadt, A. Mathematical Theories of Populations. Demographics, Genetics and Epidemics, Soc. Ind. Appl. Math. Philadelphia 1975, pl-35.
6. Levin S. Spatial Patterning and the Structure of Ecological Communities, Some Math. Questions in Biology VII.

